
log rail

steel splice plate

" dia. hole (typ.)8
7

Steel-Backed Log Guardrail. 
blockout, post notch, and general notes for 

1.

w/hex nut and plate washer

Plate washer

log rail
End of

w/hex nut & washer (typ.)

POST CONNECTION

STEEL RAIL

STEEL SPLICE PLATE

PLATE WASHER

ELEVATION SECTION A-A

PLAN

A

A

1V:10H or flatter slope

w/hex nut and plate washer
steel rail

centered in washer

NOTE:

    NO SCALE

")8
5blockout (notch post 1

" x 8" wood2
18" x 5

" x 9'-9"8
36" x 

" thick4
1

" dia. hole16
11

placed at 10'-0" centers
12" dia. x 7'-0" log post

" deep in timber rail2
1" holes 38

3

" x 4" lag screw Pre-drill8
5

" log rail2
110" dia. x 9'-11

5" dia. x 1" depth recess
" x 10" carriage bolt4

3

" x 2'-6" steel splice plate8
36" x 

" x 17" carriage bolt8
5

" x 9'-9" Steel rail8
36" x 

10" dia. log rail

" x 2'-6"8
36" x 

" x 9'-9"8
36" x 

" x 17" carriage bolt8
5

placed at 10'-0" centers
12" dia. x 7'-0" log post

5" dia. x 1" depth recess

3
"

" dia.holes (typ.)16
11

9'-9"

2'-0" min.

4
"

4
"

"2
11

"4
38

"4
3

4" 12"

6"6"

"
4

3
8

(typ.)

3"

(typ.)

"4
38

 

"2
1

3"3"9"9"3"3"

2'-6"

"4
11"2

11510"6 spaces at 11" = 5'-6"10""2
115

2
"

"4
34

"
2

1
1

"
2

1
1

" bolt slots (typ.)2
1" x 18

7

" bolt slot4
1" x 24

3

" dia. holes (typ.)8
7

"2
110" dia. x 9'-11

"
2

1
3

2
1

"
6

"
"

2
1

3

"
2

1
1

"
2

1
1

3
"

8
"

"
2

1
1

3
"

"
2

1
1

3
"

3
"

"2
173"5"7'-2"5"3""2

17
See Standard 617-81 for details of the wood 

" x 2'-6"8
36" x 

STEEL-BACKED LOG RAIL

617-80

    FP-24, FP-14   

                  
 1/2024

FLH STANDARD

1
2
:1

4
 P

M
  
 

2
1
 J

u
n
e
 2

0
2
4

]
S

td
 6

1
7
-8

0
  

 [
c
:\
p
w

-w
o
rk

\d
0
4
1
9
2
2
3
\S

td
6
1
7
-8

0
.d

g
n

OFFICE OF FEDERAL LANDS HIGHWAY
U.S. DEPARTMENT OF TRANSPORTATION, FHWA

SPECIFICATION

APPROVED FOR USE

PROJECT
NUMBER
SHEET

 
 

 

         

 



log rail

steel splice plate

Dimensions without units are millimeters.
units of measure. Metric This drawing contains

2.

Steel-Backed Log Guardrail. 
blockout, post notch, and general notes for 

1.

w/hex nut and plate washer

Plate washer

log rail
End of

w/hex nut & washer (typ.)

POST CONNECTION

STEEL RAIL

STEEL SPLICE PLATE

PLATE WASHER

ELEVATION SECTION A-A

PLAN

A

A

1V:10H or flatter slope

w/hex nut and plate washer
steel rail

centered in washer

NOTE:

    NO SCALE

Metric sizes are not available.
Equivalent US Customary sizes may be used when 
Provide hardware in the Metric sizes shown.  

18 dia. hole

20 x 55 bolt slot

18 dia.holes (typ.)

M20 x 250 carriage bolt
125 x 125 x 25 depth recess

22 dia. hole (typ.) 250 dia. x 2990 log rail

10 mm holes 90 deep in timber rail
M16 x 100 lag screw Pre-drill

M16 x 425 carriage bolt

150 x 10 x 750 steel splice plate
150 x 10 x 2930 steel rail

M16 x 425 carriage bolt

125 dia. x 25 depth recess

placed at 3000 centers
300 dia. x 2100 log post

250 dia. log rail

150 x 10 x 2930

6 thick

placed at 3000 centers
300 dia. x 2100 log post

150 x 10 x 2930

150 x 10 x 750blockout (notch post 40 mm)
200 x 140 x 200 wood

8
0

22 x 35 bolt slots (typ.)

22 dia. holes (typ.)

303902506 spaces at 275 = 1650250390

19075125215012575190

2930

3
5

3
5

5
0

2
2

0

150150

(typ.)

75

(typ.)

220

 

10

75752252257575

750

7
5

7
5

3
5

8
0

3
5

1
0

0
1

0
0

40

600 min.

220

19

100 300

2
0

0
7
5

8
5

1
5

0
8
5

5
2

5

120

250 dia. x 2990

See Standard M617-81 for details of the wood 

4
0

4
0

150 x 10 x 750

STEEL-BACKED LOG RAIL

617-80M

    FP-24, FP-14   

                  
 1/2024

FLH STANDARD

1
2
:0

1
 P

M
  
 

2
1
 J

u
n
e
 2

0
2
4

]
S

td
 M

6
1
7
-8

0
  

 [
c
:\
p
w

-w
o
rk

\d
0
4
1
9
2
2
3
\S

td
6
1
7
-8

0
.d

g
n

OFFICE OF FEDERAL LANDS HIGHWAY
U.S. DEPARTMENT OF TRANSPORTATION, FHWA

SPECIFICATION

APPROVED FOR USE

PROJECT
NUMBER
SHEET

 

         

 
 
 


	FLH Standard Drawings
	617-80: Steel-backed Log Rail
	Metric
	US Customary



	Proj-Num: 
	NPS: 
	617-80: 
	M617-80: 


